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Question 1 iy

Correct
The correct answer is (2) wailb sadll
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Correct
The correct answer is (3) dUall g gicus peuns
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Correct
The correct answer is (1) 20
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Correct

The correct answer is (1) Laidke Lws agl 45 ¥
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® Incorrect

The correct answer is (1) aslsll atteuion|
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Correct

The correct answer is (2) taxaa oLl K
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Correct
The correct answer is (2) suiill e Loyl jgall
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Correct
The correct answer is (1) wslall z5,a
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Correct
The correct answer is (3) ¢aaill aguge e
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Correct
The correct answer is (1) algy sass
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The correct answer is (3) & sew¥ | Ll
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Correct
The correct answer is (3) uwl,ull
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Correct
The correct answer is (1) Leasill
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Correct
The correct answer is (1) 4l
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Correct
The correct answer is (4) o1l
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Correct
The correct answer is (3) 99
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Correct
The correct answer is (2) &aldl
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Correct
The correct answer is (1) i geuill
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Correct

The correct answer is (¢) Usa
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Correct

The correct answer is (o) wlss
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Correct

The correct answer is (o) wlss
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Correct
The correct answer is (¢) Usa
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Correct

The correct answer is (¢) Usx
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Correct
The correct answer is (ua) wlsa
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Correct
The correct answer is (¢) Usa
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Correct
The correct answer is (4e) wlse
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Correct

The correct answer is (y=) wlya
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Correct
The correct answer is (=) wlse
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Correct
The correct answer is (u») ©lse
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Correct
The correct answer is (=) wlsa
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Correct
The correct answer is (=) <y
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Correct
The correct answer is (¢) Usa
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Correct
The correct answer is (us) wlsa
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Correct
The correct answer is (ue) wlsa
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Correct
The correct answer is (ye) wlsa
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Correct

The correct answer is (&) Usa
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Correct
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